TUFR T =T

JEJI[T L Z18 220
TUFRA—T 40 645858 (H)
a—X: OUT
A9—b/%8 Player 1 Player 2 Player 3 Player 4
12:05
1 INEF M ER INER $B1K 4R XH #BF JFH %%k
12:12
) EE F— EE HE #% INR R Bk =
12:19
3 TEE E hH F— kK 2 SR 2 Ex &
12:26
4 F RE #% EH EME & BH =A

2024/05/03 16:35:07 Page 1/ 2




TUFI =T~

JEJI[T L Z18 220
TUFRA—T 40 645858 (H)
d—X: IN
A9—b/%8 Player 1 Player 2 Player 3 Player 4
12:05
5 BB RE Bk L& FIE B PSR BAEA #% ik Hih #%
12:12
6 Bl BB # HE EZ &% K 2LF Bk %k 1R Bk
12:19
. MHE EA B IR 22— #% TR 2 F BEE K
12:26
i WE FOE #% FIER ZK Bk AR %k

2024/05/03 16:35:08

Page 2/ 2




